
	
	
	
	

Since	10	seconds	pass	between	two	max	
values,	the	period	is	10.	We	use	this	to	find	
the	frequency.	Since	the	first	max	occurs	at	
4	seconds,	we	consider	using	a	cosine	
function	and	“starting”	it	at	4	by	making	a	
phase	shift.	Since	the	wheel’s	diameter	is	18,	
the	lowest	value	must	be	-2.	Halfway	
between	those	values	must	be	the	midline.		

Plug	the	function	into	the	calculator	to	find	
each	of	these	values.		

Plug	the	function	into	the	calculator.	
Find	the	zeros	using	2nd	TRACE.		



	

Remember	to	use	the	frequency	to	solve	for	the	period.		


